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fEarsY—} 24—12—25 (20) W/C=55%LLTF m3 FH-3-P147| FH-3-P147 B
fars)—f 24—12—25 (20) W/C=55%LLF w3 FH-3-P147| $E-3-P147 72 - AE
£arrYy—» 24—12—25 (20) W/C=55%LLF 3 12, 100 12, 100 A - 2kt
Favrsy—F 24—12—25 (20) W/C=55%LLF m3 14, 700 14, 700 EXA
FarsY—» 24—12—25 (20) W/C=55%LLTF m3 F&-3-P147] FE-3-P147 7k (A)
EarrU—1} 24~12—~25 (20) W/C=B5%LLF m3 12, 300 12, 300 R (B)
Ears)—k 24—12—25 (20) W/C=55%LL T w3 17, 300 17, 300 B (C)
Ezvsy—1 24—12—25 (20) W/C=55%LAF m3 13, 600 13, 600 2k (D)
fFarvsY—% 24—12—25 (20) W/C=55%LLT m3 17, 100 17, 100 7 (E)
oy — 24—12—25 (20) W/C=55%LLF m3 g, 800 9, 800 2R (F)
Earzy—F 24—12—-25 (20) W/C=55%LLF m3 13, 280 13, 280 KE - KEH
fLarsy—p 24—12—25 (20) W/C=B5%LA T m3 #H-3-P147| #-6-P151 FEH (A)
HEarr)—k 24—12—25 (20) W/C=55%LLF m3 14, 500 14, 500 #5 (B)
Lz r7Y—} 24—12—25 (20) W/C=55%LLF n3 15, 800 15, 800 #= (C)
fEavsy—+tr 24—12—25 (20) W/C=55%LLTF w3 14, 100 14, 100 #& (D)
$FarrY—% 24—12—25 (20) W/C=55%LLF m3 13,100 13, 100 #% (E)
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HEarvsy—§h 24—12—25 (20) W/C=55%LLTF m3 H-3-P147| FE-6-P151 SE (A)
HFaryy—§ 24—12—25 (20) W/C=55%LLTF m3 P * HE (B)
Harvyzl)—-+ 24—12—25 (20) W/C=55%LLTF m3 15, 600 15, 600 7y
Fary)—Fk 24—12—25 (20) W/C=55%LLTF m3 17, 100 17, 100 ik (A)
HFarvy)—§ 24—12—25 (20) W/C=55%LLTF m3 f&-3-P147| FE-3-Pl47 4k (B)
HFayvyy—Fh 24—12—25 (20) W/C=55%LL T m3 |-3-P147] F-3-P147 f2m (A)
HFary)—Fk 24—12—25 (20) W/C=55%LLF m3 17, 100 17, 100 2@ (B)
HEaryy—k 24—12—25 (20) W/C=55%LLTF m3 17, 100 17, 100 #28 (C) -
Karvsy—4p 24—8—25 (20) W/C=55%LLF m3 f#H-3-P147| F-3-P147 &4 -MAH
Earvs)—} 24—8—25 (20) W/C=55%LLTF n3 -3-P147| BE-3-P147 SR
$arsV—¢ 24—8—25 (20) W/C=55%LLTF m3 FH-3-P147| H-3-P147 = AR
a7V —F 24—8—25 (20) W/C=55%LLF m3 12, 100 12, 100 ENEE 2 ]
Ear7Y—Fb 24—8—25 (20) W/C=55%LLF m3 14, 700 14, 700 EF A
HEavsy—| 24—8—25 (20) W/C=55%PLF m3 8, 800 8, 800 B (A)
gavyy—Fp 24—8—25 (20) W/C=55%LLF n3 12, 300 12, 300 I (B)
Haryy)—¢p 24—8-—25 (20) W/C=55%LLF m3 17, 300 17, 300 nig (C)
Eavr7)—¢ 24—8—25 (20) W/C=55%LLF m3 13, 600 13, 600 B (D)
$avs)—} 24—8—25 (20) W/C=55%LLF m3 17, 100 17, 100 IR (E)
fEar2UY—F 24—8—25 (20) W/C=55%LLTF m3 9, 800 9, 800 I (F)
fEarr7Y—+F 24—8—25 (20) W/C=55%LLTF m3 13, 280 13, 280 XE - KEE
FarsU—Fh 24—8—25 (20) W/C=55%LLF m3 11,300 | f&-6-P151 B (A)
HFavyg)—k 24—8—25 (20) W/C=55%LLF n3 14, 500 14, 500 F5 (B)
HEarvgy—p 24—8—25 (20) ~W/C=55%LLF m3 15, 800 15, 800 F#H (C)
HEaryy—h 24—8—25 (20) W/C=55%ELF n3 14, 100 14, 100 #% (D)
HFarvy)—Fk 24—8—25 (20) W/C=55%LLF m3 13, 100 13, 100 FE (E)
HFarg)—} 24—8—25 (20) W/C=55%LLF m3 #5-3-P147| FH-6-P151 SR (A)
£arsY—}p 24—8—25 (20) W/C=55%LLF 3 * * mE (B)
Aayyy—F 24—8—25 (20) W/C=55%LLF m3 15, 400 15, 400 R
Eavz)—% 24—8—25 (20) W/C=55%LLF. m3 16, 900 16, 900 ik (A)

=7y —1 24—8—25 (20) W/C=55%LLTF m3 FH-3-P147| FE-3-P147 #dk (B)
HFarrsy—Fh 24—8—95 (20) W/C=55%LLF 3 -3-P147| #-3-P147 E (A)
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a2 Y—F . |24—8—25 (20) W/C=55%LLTF m3 " 16, 900 16, 200 M (B)
farvs)—% 24—8—25 (20) W/C=55%LLTF 3 16, 900 16, 900 #E (C)
HEarsU—1 21—12—25 (20) W/C=55%LLF m3 #H-3-P147| #E-3-P147 ErRER
o V—% 21—12—25 (20) W/C=55%LLT m3 $E-3-P147| FE-3-P147 Y5
FarvrYy—Fh 21—12—25 (20) W/C=55%LLF m3 #5-3-P147| #H-3-P147 = - AB
o )—% 21—12—25 (20) W/C=55%LLF m3 - 12, 100 12, 100 Al - =i
koY —F 21—12—235 (20) W/C=55%LLF m3 14, 700 14, 700 ESA:
garsY—¢ 21—12—25 (20) W/C=B5%LLF m3 F5-3-P147| #§-3-P147 R (A)
Lo J—F 21—12—25 (20) W/C=55%LLTF m3 12, 300 12, 300 R (B)
fFarzy—% 21—12—25 (20) W/C=55%LLTF m3 17, 300 17, 300 R (C)
(37—} 21—12—25 (20) W/C=55%LLF n3 13, 600 13, 600 iR (D)
HFarry—Fk 91—12—25 (20) W/C=55%LLF 3 17, 100 17, 100 Wi (E)
HEarryy—| 21—12—25 (20) W/C=55%pLTF m3 9, 800 9, 800 R (F)
Earvsy—k 21—12—25 (20) W/C=55%LLF m3 13, 280 13, 280 KE - KEHR
£arvsY—F 21—12—25 (20) W/C=55%LATF m3 B-3-P147| $H-6-P151 FE (A)
Laryy—1k 21—12—25 (20) W/C=55%LLTF m3 14, 500 14, 500 #= (B)
$arry—} 21—12—25 (20) W/C=55%LLF m3 15, 800 15, 800 #& (C)
HEarysY—Fk 21-—-12—25 (20) W/C=55%LLF n3 14, 100 14, 100 #5 (D)
HFarygU—t 21—12—~25 (20) W/C=55%LLF m3 13, 100 13, 100 F5 (E)
Earvsy—» 21—12—25 (20) W/C=55%LLTF m3 FE-3-P147| H-6-P151 EEE (A)
£avs)—h 21—12—325 (20) W/C=55%LATF m3 * * EE (B)
Favzy—+¢ |21—12—25 (20) W/C=55%LLF 3 FE-3-P147| #H-3-P147 S
farvyy—Fk 21—12—25 (20) W/C=55%LLF w3 17, 100 17, 100 i (A)
favsy—} 21—12—25 (20) W/C=55%LATF m3 FH-3-P147| FH-3-P147 2 (B)
Saryy—¢ 21—12—25 (20) W/C=55%LLTF m3 F-3-P147| FH-3-P147 2l (A)
EavsY—1 21—12—25 (20) W/C=55%LLTF m3 17, 100 17, 100 i (B)
$£avsyY—F 21—12—25 (20) W/C=55%LLF m3 17, 100 17, 100 #m (C)
FarsY—t 21—8—25 (20) W/C=55%LLF m3 FH-3-P147| #-3-P147 4 - AT
Ears Y-t 21—8—25 (20) W/C=55%LATF m3 H-3-P147| #-3-P147 85
gargy—, 21—-8—25 (20) W/C=55%LLF m3 FE-3-P147| #E-3-P147 RN
= Y—¢ 21—8—25 (20) W/C=55%LLF n3 12, 100 12, 100 Al - =R
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farsy—=} 21—-8--25 (20) W/C=55%LLTF n3 14, 700 14, 700 B A
HLarysY—F 21—8—25 (20) W/C=55%LLTF n3 FE-3-P147| FE-3-P147 B (A)
Larr)—F 21—8—25 (20) W/C=55%LLF 3 12, 300 12, 300 7R (B)
Loy Y—Fp 21—8—25 (20) W/C=55%LLTF nd 17, 300 17, 300 ik (C)
LaryU—} 21—8—25 (20) W/C=55%LLTF n3 13, 600 13, 600 Rk (D)
FaryY—Fk 21—8—25 (20) W/C=55%LLF u3 17, 100 17, 100 ik (E)
FayyY—1} 21—8—25 (20) W/C=b5%LLTF n3 9, 800 9, 800 IR (F)
Loy —1 21—8—25 (20) W/C=55%LAF 3 13, 280 13, 280 4 - KE®R
farsy—4 21—8—25 (20) W/C=55%PATF m3 fE5-3-P147| fE-6-P151 FE (A)
HEaryy—| 21—8—25 (20) W/C=55%LLTF b3 14, 500 14, 500 F5 (B) .
oy )—Fh 21—8—25 (20) W/C=55%LLT m3 15, 800 15, 800 F#E (C)
Earyl—| 21—8—25 (20) W/C=55%LLF m3 14, 100 14, 100 #% (D)
HEarvyY—} 21—8—25 (20) W/C=B5%LAF 3 13, 100 13, 100 FE (E)
vy —4k 21—8—25 (20) W/C=55%LLT w3 $E-3-P147| FE-6-P151 BE (A)
Farvyy—} 21—8—25 (20) W/C=55%LLF m3 * * EE (B)
HFarsy—p 21—8—25 (20) W/C=55%LLF n3 FH-3-P147| BE-3-P147 ]
EaryY—F 21—8—25 (20) W/C=55%LATF m3 16, 900 16, 900 f2dt (A)
£avyy—1+ 21—8—25 (20) W/C=55%LATF 13 #H-3-P147| #-3-P147 #2dk (B)
b2/ VU—% 21—8—25 (20) W/C=55%LLTF m3 E-3-P147| FHE-3-P147 i (A)
HFary)—h 21—8—25 (20) W/C=55%LLTF m3 16, 900 16, 900 #2m (B)
Ko pY—} 21—8—25 (20) W/C=55%LLF n3 16, 900 16, 900 #2E (C)
Earryl—¢ 33—8—25 (20) W/C=55%LLF m3 13,950 13, 950 &4 WAH
Earvyy—r 33—8—25 (20) W/C=55%LATF m3 11, 850 11, 850 8
FaryY—» 33—8—25 (20) W/C=55%LLTF m3 11, 750 11, 750 = -AE
HFaryy—p 33—8—25 (20) W/C=55%LLF n3 13, 050 13, 050 Al - 2440
fFalyy—F 33—8—25 (20) W/C=55%LLF n3 15, 650 15, 650 YA
fFarzy—t 33—8—25 (20) W/C=55%LLF . n3 9, 750 9, 750 WK (A)
HEarszy—L 33—8—25 (20) W/C=55%LA T w3 13, 250 13, 250 7R (B)
HEarry—k 33—8—25 (20) W/C=55%LLF m3 18, 500 18, 500 iR (C)
HEarygy—% 33—8—25 (20) W/C=55%LATF n3 14, 550 14, 550 WiE (D)
HFavry—F 33—8—25 (20) W/C=55%LLF m3 18, 050 18, 050 ik (E)
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Lary)—} 33—8—25 (20) W/C=55%LLTF m3 10, 750 10, 750 IR (F)
Earsy—L 33—8—25 (20) W/C=55%LLTF m3 14, 230 14, 230 KB - KER
FarvyV—F 33—8—25 (20) W/C=55%LLF m3 12, 250 12, 250 FE (A)
EarvrY—} 33—8—25 (20) W/C=55%LLF m3 15, 450 15, 450 #2 (B)
FEavyy—t [33—8—25 (20) W/C=55%LLF n3 16, 750 16, 750 #2 (C)
EarygyY—r 33—8—25 (20) W/C=55%LLF 3 15, 050 15, 050 #& (D)
gargy—% 33—8—~25 (20) W/C=55%LLF n3 14, 050 14, 050 #FZ (E)
HFarsY—} 33—-8—25 (20) W/C=55%PLTF m3 14, 050 13, 050 mE (A)
FarvyU—F 33—~8—25 (20) W/C=55%LLTF n3 * * EE (B)
Eavry—h 33—8—25 (20) W/C=55%LAF n3 16, 700 16, 700 FE
£arvy)—} 33~—8—25 (20) W/C=b5%LLTF 3 19, 300 19, 300 #dt (A)
(a7 Y—Fh 33—8—25 (20) W/C=55%LLTF 3 19, 300 19, 300 ik (B)
oy y—E 33—8—25 (20) W/C=55%LLTF m3 19, 300 19, 300 #rE (A)
HEarry—} 33—8—25 (20) W/C=554%LLF m3 19, 300 19, 300 o (B)
Faryy—F 33—8—25 (20) W/C=55%LLF m3 19, 300 19, 300 o (C)
HFEaryg—k 30—15—25 (20) W/C=55%LAF & > b W350ke/m3 [m3 14, 050 14, 050 4 - WA
farr)—F 30—15—25 (20) W/G-55%LLF &4 > b H350kg/m3 |m3 11, 950 11, 950 oy
Eary)—h 30—15—25 (20) W/C=55%LLF £ A > b Kk350kg/n3 |13 11, 750 11, 750 ®-AB
favs)—b 301525 (20) W/C=55%LLF A b k350ke/n3 |m3 13, 050 13, 050 EIMEE e
f£ars—% 30—15—25 (20) W/C=SS¥LAF £ A > b §3I50kg/n3 |m3 15, 650 15, 650 E A
FEarvgy—hr 30—15—25 (20) W/C-SSNELF 2> b f1350ke/n3 |m3 9, 750 9, 750 miR (A)
£z —F 30—15—25 (20) W/CSSXLLF A | E350ke/md |m3 13, 250 13, 250 IR (B)
Farsy—h 30—15—25 (20) W/C=55%LLF + A > | R350kg/m3 |m3 18, 400 18, 400 7 (C)
a7 U—} 30—15—25 (20) W/C=SS%LLF > b #350ke/n3 |m3 14, 550 14, 550 ik (D)
Farygy—k 30—15—25 (20) W/C=BSRLLF £ X > b H350ke/n3 |m3 18, 050 18, 050 wmE (E)
Earvr)—% 30— 1525 (20) W/C=SSYBLF A > b HE350kg/n3 (M3 10, 750 10, 750 Wik (F)
Favr)—F 30—15—25 (20) W/C=55%ELF 2 > b Bt350ke/m3 |m3 14, 230 14, 230 Ke-KEXH
Harygy—©% 30—-15—25 (20) W/C=SS%LLF * 7 > }4k350ke/m3 |m3 12, 250 12, 250 F% (A)
Eavsy—% 30—15—25 (20) W/C=SS%ELF + X3 b 350ke/n3 |m3 15, 450 15, 450 FE (B)
Fargy—% 30—15—25 (20) W/C=55%LLF ¥ A > b fi350kg/n3 |D3 16, 750 16, 750 FE (C)
Haryl)—Fk 30—15-25 (20) W/C=SSMEL'F 2> k R350kg/n3 |M3 14, 750 14, 750 F2 (D)
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farrV—F 20—15—25 (20) W/C=SSXLLTF & 2 > hHE350ke/n3 {m3 14, 050 14, 050 F5 (E)
Fars)—F 30—15—25 (20) W/C=55%ELF 1> hEk350kg/n3 M3 13, 750 12, 750 EE (A)
FarzsU—F 30—15—25 (20) W/C=SSRELF ¥ 7} @350kg/n3 |m3 * * =B (B)
a7 V—F 30—15-25 (20) W/C=SSRLLF ¥ A > b ht3soke/n3 |m3 16, 800 16, 800 FH
HEoavr—Fh 30—15-25 (20) W/C=SSXELT A h&350ke/n3 |3 18, 300 18, 300 i (A)
Earvyzy—§ 30— 15—25 (20) W/C=55%ELF A > b M350kg/n3 |03 18, 300 18, 300 %t (B)
Ears)—h 30—15—25 (20) W/C=55%81F A > hB350kg/n3 |3 18, 300 18, 300 2 (A)
Farvrsy—% 30—15—25 (20) W/C=55%LAT & 2> b E350ke/n3 (m3 18, 300 18, 300 #rE (B)
f£ars7U—F 30—15—25 (20) W/C=S5%ELF & 2 > b f350ke/m3 [m3 18, 300 18, 300 2 (C)
oy Y—F 30—12—25 (20) W/C=55%LAF m3 FH-3-P147| #E-3-P147 E L
garzY—F 30—12—25 (20) W/C=55%LLTF 03 -3-P147| #F-3-P147 P
fLarsy—% 30—12—25 (20) W/C=55%LAF n3 -3-P147| FH-3-P147 = - AR
$avsy—4 30—12—25 (20) W/C=55%LLF w3 12, 750 12, 750 |1 - =44
LarvsY—F 30—12—25 (20) W/C=55%LLF m3 15, 350 15, 350 XA
Harsy—¢ 30—12—25 (20) W/C=55%LLF n3 FH-3-P147] FH-3-P147 BB (A)
fLarvygy—»r 30—12—25 (20) W/C=B5%LLF 3 12, 950 12, 950 B (B)
$£ar7Y—F 30—12—25 (20) W/C=55%LLF n3 18, 100 18, 100 IR (C)
ka7 —1 30—12—25 (20) W/C=55%LAF n3 14, 250 14, 250 27k (D)
farz)—1t 30—12—25 (20) W/C=55%LLF n3 17, 750 17, 750 B (E)
CEPT AR 30—12—25 (20) W/C=55%LLTF n3 10, 450 10, 450 Wi (F)
Faxy Y=} 30—12—25 (20) W/C=55%LLF n3 13,930 13, 930 KB - KEX
Favry—Fk 30—12—25 (20) W/C=55%LLF m3 fE-3-P147| #E-6-P151 FZ (A)
HFarr)—} 30—12—-25 (20) W/C=55%LLF 3 15, 150 15, 150 #3 (B)
farry—p 30—~12—25 (20) W/C=55%LLF n3 16, 450 16, 450 #E (C)
=7 Y—F 30—12—25 (20) W/C=55%LLTF n3 14, 750 14, 750 F#® (D)
HFarrzJ—L 30—12—25 (20) W/C=55%LLF m3 13, 750 13, 750 FE (E)
EavyY—F 30—12—25 (20) W/C=55%LLTF m3 #-3-P147| #¥-6-P151 BE (A)
Aayrz¥y—1 30—12—25 (20) W/C=55%LAF w3 * * HE (B)
Far s Y—Fh 30—12—25 (20) W/C=55%LLF m3 FH-3-P147| FH-3-P147 #E
HavzU—F 30—12—25 (20) W/C=55%LLTF m3 18, 000 18, 000 ik (A)
HEarygy—p 30—-12—25 (20) W/C=55%LLTF w3 FH-3-P147| FH-3-P147 4k (B)
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o U—F 30—12—25 (20) W/C=55%LLF w3 FH-3-P147] FH-3-P147 & (A)
Farsy—Fk 30—12—25 (20) ‘W/C=55%LLF n3 18, 000 18, 000 #F (B)
FarvsU—F 30—12—25 (20) W/C=55%LLTF m3 18, 000 18, 000 Ao (C)
EarvsU—F 21—15—25 (20) W/C=55%LLTF w3 | ®-3-P147| FE-3-P147 &4 - MAH
farsV—F 21—15—25 (20) W/C=55%LLTF m3 #H-3-P147| F&-3-P147 YA
Larsy—¢t 21—15—325 (20) W/C=55%LL T m3 FH-3-P147{ FH-3-P147 RN
£y U—F 21—15—25 (20) W/C=55%LLTF n3 12, 400 12, 400 |l - =44
HarrY—F 21—15—25 (20) W/C=55%LLTF m3 15, 000 - 15, 000 BEZA
£z V—F 21—15—25 (20) W/C=h5%LATF m3 #-3-P147| FH-3-P147 BB (A)
Saryzy—1r 21—15—25 (20) W/C=55%LLF m3 12, 600 12, 600 2R (B)
EarvrY—F 21—15—25 (20) W/C=55%LA T m3 17, 600 17, 600 R (C)
HFarvyY—§ 21—15—25 (20) W/C=55%LLF 3 13, 900 13, 900 BiR (D)
£ Y—F 21—15—25 (20) W/C=55%LLTF m3 17, 400 17, 400 wiR (E)
HFarvrJ—Fk 21—15—25 (20) W/C=55%LLF m3 10, 100 10, 100 #K (F)
o yY—Kk 21—15—25 (20) W/C=55%LLF n3 13, 580 13, 580 KB - KEXE
HLarvrzy—% 21—15—25 {20) W/C=B5%LAL T m3 #-3-P147| #H-6-P151 F3 (A)
fLarvsy—t 21—15—25 (20) W/C=55%LLF m3 14, 800 14, 800 #& (B)
HEarszY—) 21—15—25 (20) W/C=55%LLF m3 16, 100 16,100 Fe (C)
fEamrrY—k 21—15—25 (20) W/C=55%LLF m3 14, 100 14, 100 #% (D)
garsy—k 21—15-—25 (20) W/C=55%LLF 3 13, 400 13, 400 #% (E)
EavrY—F 21—15—25 (20) W/C=65%LA T m3 F5-3-P147| #E-6-P151| REE (A)
f£arrY—F 21—15—25 (20) W/C=55%LLF m3 | * * HE (B)
£z Y—F 21—15—25 (20) W/C=55%LL T w3 FE-3-P147| B-3-P147 BB
Fary)—1F 21—-15—25 (20) W/C=55%LLTF 3 17, 400 17, 400 it (A)
fgavysU—k 21—15-—25 (20) W/C=55%LLF n3 F5-3-P147] F5-3-P147 ik (B)
farvyzyY—+ 21—15—25 (20) W/C=55%LLTF 3 -3-P147| FE-3-P147 %wE (A)
o 7Y—¢ 21—15—25 (20) W/C=55%LLF n3 17, 400 17, 400 % (B)
farr)—} 21—15—25 (20) W/C=B5%LLF m3 17, 400 17, 400 #eEE (C)
Loy —+t 18—12—25 (20) W/C=55%ELF u3 13, 000 13, 000 =4 - AT
HEarsY—Fh 18—12—25 (20) W/C=55%LLF n3 10, 900 10, 900 B
arsU—% 18—12—25 (20) W/C=55%LLF m3 10, 800 10, 800 - AR
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EavgY—h 18—12—25 (20) * W/C=55%5LF m3 12, 100 12, 100 B - EddE
garvsYy—t 18—12—25 (20) W/C=55%8LF m3 14, 700 14, 700 E¥A
FavsY—, 18—12—25 (20) W/C=55%LLF m3 8, 800 8, 800 7R (A)
f£arrsy—Fh 18—12—25 (20) W/C=55%LAF 3 12, 300 12, 300 #IR (B)
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Bafhe A v FMERANER 24—12--25. (20) 3 900 900 #F2 (A)
BEAL MERAMESE 24—12—25 (20) n3 1, 100 1, 100 . #2 (B)
BvArv MERMESE 24—12—25 {20) n3 900 900 #2 (C)
B Ay MEAMESHE 24—12—25 (20) w3 900 900 % (D)
B AL MERAMEH 24—12—25 (20) 3 900 900 FE (E)
Bt AV MERMESR 24-—12—25 (20) n3 900 900 HE (A)
BrEAY MERAMES 24—12—-25 (20) m3 * * HEE (B)
Bt Ar MERMER 24—12—25 (20) m3 1, 100 1, 100 FR
B Ay MERMESE 24—12—25 (20) w3 1, 500 1, 500 mde (A)
B A MEAMELE 24—12—25 (20) m3 ‘1, 500 1, 500 ik (B)
B Ay MERAMEH - |24—12—-25 (20) 3 1, 500 1, 500 % (A)
Brat A v MERMESR 24—12—25 (20) m3 1, 500 1, 500 o (B)
B 2y MERMESE 24—-12—25 (20) n3 1, 500 1, 500 8 (C)
B AL MEAMEH 24—8—25 (20) m3 ¥-3-P97] RB-3-P97 , % -MA™
B AV NMEANER 24—8—25 (20) m3 #-3-p97] E-3-P97 85
Heg¥ AL MERAMEEE 24—8—25 (20) n3 ®-3-P97| E-3-P97 E-ARE
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Bt A FMEAMERA 24—8—25 (20) 3 900 900 Bl - E¥
Bt Ar MEAMER 24—8—25 (20) m3 FE-3-P103| $F-3-P103]| - EkKE
B Ar MERMESE 24—8—35 (20) w3 #-3-P97| E-3-P97 PR (A)
BREAY MERAMER 24—8—25 (20) m3 1, 100 1, 100 2K (B)
By ALY MERAMESR 24—8—25 (20) m3 1, 000 1, 000 SR (C)
R Ar MEAMESR 24—8—25 (20) B3 900 900 IR (D)
Bt A v MERAMES 24—8—25 (20) m3 900 900 IR (E)
Bl Ay MERAMERE 24—8—25 (20) 3 900 900 B (F)
BEAv MEAMES 24—8—25 (20) m3 1, 100 1, 100 K& - RER
Bee ALY FMERMESE 24—8—25 (20) m3 $-3-po7|  E-3-P97 FE (A)
B A MERMESE 24—8—25 (20) m3 1, 100 1, 100 #5 (B)
B AL MERAMESE 24—8—25 (20) m3 900 900 #E (C)
Rt AY MEAMES 24—8~-25 (20) m3 900 900 #% (D)
B AL MERNES 24—8—25 (20) 3 900 900 F2 (E)
B AL MERMESR 24—8—25 (20) m3 #-3-po7| ®&-3-P97 BE (A)
B Ar rMERMES 24—8—25 (20) m3 * * HE (B)
B A v MEAMESH 24—8—25 (20) m3 g#-3-P9g| E-3-P9g ey
Bt Ay MMERMESE 24—8—25 (20) m3 1, 500 1, 500 £ih (4)
B A MERMES 24—8—25 (20) m3 FH-3-P103| FH-3-P103 £ (B)
B A MERAMES 24—8—25 (20) m3 F-3-P99| E-3-P99 R (A)
B A MERANESR 24—8-—25 (20) n3 #-3-P99| E-3-P99 %2/ (B)
B AL MERAMESE 24—8—25 (20) m3 1, 500 1, 500 /i (C)
Bz AL MEAMES 21—12—25 (20) m3 ¥-3-pP97| E-3-P97 &4 - MAH
Bt Ay MERAMESE 21—12—25 (20) m3 B®-3-P97| E-3-P97 B
1B A Y FMERMESR 21—12—25 (20) 3 ®-3-P97] E-3-P97 &-AE
BREAV MERNESE 21—12—25 (20) m3 850 850 B - ZkdE
B AL MERAMAEE 21—12—25 (20) m3 #H-3-P103| fH-3-P103 E A
Bt Ay FMEAMER 21—12—25 (20) m3 &®-3-P97| E-3-P97 7k (A)
BHEEX v MERAMESR 21—12—25 (20) m3 1, 000 1, 000 2R (B)
Baw AL MERAMEHE 21—12—25 (20) m3 900 900 B (C)
Bt AY MEAMES 21—12—25 (20) m3 850 850 IR (D)
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Rkt A MERMERE 21—12—25 (20) m3 850 850 ik (E)
Beht A v MERMESE 21—12—25 (20) m3 850 850 7k (F)
B Ay MERMESE 21—12—25 (20) m3 1, 000 1, 000 X - KEX
B AL MERMESE 21—12—25 (20) m3 B-3-P97| E-3-P97 F (A)
Bt AL MERMESE 21—12—-25 (20) 3 1, 000 1, 000 H#8 (B)
Rt Ay MEIRAMAL 21—12—25 (20) m3 800 800 #3 (C)
Bigw 2y NMERAESE 21—12—25 (20) m3 800 800 #% (D)
Bt AL MERAMESE 21—12—25 (20) 3 850 850 #% (E)
Bz Ay MEAMAER 21—-12—25 (20) m3 B-3-P97| E-3-P97 EEE (A)
Be A MERAMER 21—12—25 (20) 3 * * EE (B)
BrawAr MERAMESE 21—12—25 (20) m3 #-3-p99| E-3-P99 [
B Av MEAMESR 21—12—25 (20) m3 1, 500 1, 500 fk (A)
B A MEFAMESR 21—12—25 (20) m3 ##-3-P103| F&-3-P103 2k (B)
B AL MERAMES 21—12—25 (20) m3 F-3-P99| E-3-P99 2 (A)
Bet AL MERAMESE 21—12—25 (20) m3 #-3-P99| E-3-P99 #=mE (B)
i AV MERMEE 21—12—25 (20) m3 1, 500 1, 500 i (C)
LA NMERAMESR 21—8—25 (20) n3 B#-3-P97|  E-3-P97 &L - MWATH
Bt AL MERAMBEE 21—8—25 (20) m3 #-3-P97| #E-3-P97 Py
B Ay MERAMESR 21—8—25 (20) w3 #®-3-P97| ¥&-3-P97 RN
Bt A MERMEE 21—8—25 (20) n3 850 850 Bl - £
Btk AV MEAMESE 21—8—25 {(20) m3 F-3-P103| FEH-3-P103 EX A
B A MERMESR 21—8—25 (20) m3 ¥#-3-P97| BE-3-P97 Wik (A)
B AL MERMESE 21—8—25 (20) m3 1, 000 1, 000 B (B)
Big Ay MERMESE 21—8—25 (20) m3 900 300 ff (C)
Bt Ay MERMESE 21—8—25 (20) w3 850 850 BKR (D)
B2y MEANER 21—8—25 (20) m3 850 850 g (E)
B+ 22 MEBMES 21—8—25 (20) m3 850 850 # (F)
Bt AL MERANMESE 21—8—25 (20) n3 1, 000 1, 000 RE - KEX
Bev Ay MEAMES 21—8—25 (20) m3 B-3-P97| #-3-P97 #3 (A)
Bt A v MERANER 21—8—25 (20) m3 1, 000 1, 000 8 (B)
Bigsv AL MEAMERE |21—8—25 (20) m3 800 800 FE (C)
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B Ay MERAMER 21—8-—25 (20) w3 800 800 #& (D)
B A L MERAMELR 21—8—25 (20) m3 850 850 #5 (E)
Rigv 2 MERAMES 21—8—26 (20) m3 #-3-P97| HE-3-P97 EHE (A)
Bk Ay MERAMESR 21—8—25 (20) m3 * % HE (B)
B AL MERAMNELE 21—8—25 (20) n3 #-3-P9g| E-3-P99 FR
B A v MERMEE 21—8—25 (20) 3 1, 500 1, 500 ik (A)
RwAr MERMESR 21—8—25 (20) 3 FH-3-P103| F&E-3-P103 ik (B)
R 2L MERBMES 21—-8—25 (20) m3 ¥-3-P99| E-3-P99 i (A)
Bt A MEANER 21—8—25 (20) m3 #-3-P99| RE-3-P99 %4 (B)
B Ar MERMER 21—8—25 (20) m3 1,500 1, 500 fm (C)
Bar Ay MERAMEHR 33—8—25 (20) m3 H-3-P97] E-3-P97 &4 - MBH
Bt A v MERMESE 33—8—25 (20) m3 ¥-3-P97|  B-3-P97 W

| BHEAS MERMES 33—8—25 (20) m3 #-3-pe7| #-3-p97 2-AR
Bea A v MERNMER 33—8—25 (20) m3 1, 000 1, 000 ENEE 7
Bigt Ay MERMES 33—8—25 (20) m3 H-3-P103| fE-3-P103 E2 A
B AL MERMEHR 33—8—25 (20) m3 #-3-P97| E-3-P97 7k (A)
B AV MEAMESE 33—8—25 (20) m3 1, 200 1, 200 2K (B)
B Ar NMERAMER 33—8—25 (20) m3 1,100 1, 100 BIR (C)
Bt Ay MERMERA 33—8—25 (20) m3 1, 000 1, 000 #®ik (D)
Bt A v MERMESE |33—~8—25 (20) n3 1, 000 1, 000 7k (E)
B Ay MERMEE 33—8—25 (20) n3 1, 000 1, 000 27k (F)
B A v MERNEH 33—8—25 (20) 3 1, 200 1, 200 K& - KEHR
B Ar NERMNESE 33—8—25 (20) 3 #-3-po7| ®-3-P9T7 F5 (A)
Bk Ay FMERMNER 33—8—25 (20) m3 1, 200 1, 200 #2 (B)
B Ay MERAMES 33—8—25 (20) m3 1,100 1, 100 F5 (C)
B Ay FMERAMNER 33—8—25 (20) m3 1, 000 1, 000 #5 (D)
B AL MEANESR 33—8—25 (20) m3 1, 000 1, 000 #5 (E)
B AL MERMESR 33—8—25 (20) m3 #-3-P97| ¥E-3-P97 EE (A)
BHEAL MERAMBEHA 33—8—25 (20) m3 * * HE (B)
BRREAv MEEMER 33—8—25 (20) m3 E-3-P99| E-3-P99 FE
BRe A MERNES 33—8—25 (20) m3 1, 500 1, 500 2t (A)
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B AL FMERAMER 33—8—25 (20) 3 F#-3-P103| FE-3-P103 A2t (B)
Bt AL MMERMESE 33—8—25 (20) m3 B-3-P99| E-3-P99 #m (A)
B Ay MERAMER 33—8—25 (20) m3 #-3-P99| E-3-P99 #E (B)
B Av FERAMESR 33—-8—25 (20) m3 1, 500 1, 500 i (C)
Bt A MERAMNERR 30—15—25 (20) m3 1, 000 1, 000 =4 - WAH
Bes A MEAMER 30—15—25 (20) 3 1, 200 1, 200 BEs
Bt Ay MERAMESH 30—15—25 (20) m3 1, 000 1, 000 ®2- AR
B Ay MERAMES 30—15—25 (20) m3 1, 000 1, 000 ENEES =4
Bt A MERMER 30—~15—25 (20) m3 1, 000 1, 000 Al
Bt AL MERMES 30—15—25 (20) m3 1, 200 1, 200 iR (A)
R A MEAMERE 30—15—25 (20) m3 1, 200 1, 200 2k (B)
B A v FMEAMER 30—15—25 (20) 3 1,100 1, 100 7R (C)
Bigw AL MERAMER 30—15—25 (20) m3 1, 000 1, 000 7R (D)
B A NMERAMES 30—15—25 (20) m3 1, 000 1, 000 7R (E)
Bt A FMERMEZE 30—15—25 (20) m3 1, 000 1, 000 7R (F)
Bkt ALY MERMNELE 30—15—25 (20) 3 1, 200 1, 200 KB KEE
B A MERMER 30—15—25 (20) m3 1, 000 1, 000 F2 (A)
Bt Ay FMERMER 30—15—25 (20) w3 1, 200 1, 200 F& (B)
B AL MEAMBE 30—15—25 (20) 03 1, 000 1, 000 #& (C)
Bt Ay MERAMER 30—15—25 (20) m3 1, 000 1, 000 #5 (D)
By AL MERNMER 30—15—25 (20) n3 1, 000 1, 000 B3 (E)
B Ay MERANEH 30—15—25 (20) m3 1, 000 1, 000 EE (A)
B A MERMES 30—15—25 (20) m3 * * EHEE (B)
B AL MERAMESR 30—15—25 (20) m3 1, 500 1, 500 e
B Ay MERMESR 30—15—25 (20) m3 1,500 1, 500 #dk (A)
B AY MERMER 30—15—25 (20) m3 1, 500 1, 500 =it (B)
B AV MEAMER 30—15—25 (20) m3 1, 500 1, 500 % (A)
B Ay MERAMER 30—15—25 (20) n3 1, 500 1, 500 #m (B)
B AL MEBNEEHE 30—15—25 (20) w3 1, 500 1, 500 %/ (C)
Ragt A v MERMESE 30—12—25 (20) w3 1, 000 1,000 #4 - AT
BB AL MERMES 30—12—25 (20) m3 1, 300 1, 300 Y3
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B Ay MERMNES 30—12—25 (20) 3 1, 000 1; 000 B-AR
BEEAr NMERAMEL 30—12—25 (20) m3 1, 000 1, 000 A - E=44E
Begw Ay MEAMES 30—12—25 (20) w3 1, 000 1, 000 XA
Bt Ar NEAMBE 30—12—25 (20) n3 1, 300 1, 300 ik (A)
R A MERMBEL 30—12—25 (20) n3 1, 300 1, 300 B (B)
B A MEAMERE 30—12—25 (20) 3 1, 100 1, 100 7K (C)
B AV NMERMER 30—12—25 (20) w3 1, 000 1, 000 2k (D)
B Ar MERAMESH 30—12—25 (20) n3 1, 000 1, 000 ®IE (E)
B AL MERMEL 30—12—25 (20) 3 1, 000 1, 000 1R (F)
BRRv Ay MERAMESR 30—12—25 (20) m3 1, 300 1, 300 KE - KREH
B A v MERANMESE 30—12—25 (20) 3 1, 000 1, 000 #5 (A)
Bt Ay MEAMES 30—12—25 (20) n3 1, 300 1, 300 #& (B)
Hae A v MERNEHE 30—12—25 (20) n3 1, 000 1, 000 #& (C)
Rigt AL MERMESE 30—12—25 (20) 3 1, 000 1, 000 F& (D)
Bt Ay MERAMESE 30—12—25 (20) n3 1, 000 1, 000 F5 (E)
B Ay MERAMER 30—12—25 (20) S 1, 000 1, 000 HE (A)
Btk AY MEBMEBE 30—12—25 (20) m3 ® * HEE (B)
B A MEAMER 30—12—25 (20) n3 1, 500 1, 500 #E
Bt A MERAMESR 30—12—25 (20) 3 1, 500 1, 500 ik (A)
AL MEFAMBEHR 30—12—-25 (20) n3 1, 500 1, 500 i (B)
Rt A v MERMESR 30—12—-25 (20) n3 1, 500 1, 500 wE (A)
Boa AV MERMES 30—12-25 (20) m3 1, 500 1, 500 /8 (B)
Bt A MERAMER 30—12—-25 (20) 3 1, 500 1, 500 & (C)
Big¥ A v FMERMELR 21—15—25 (20) m3 850 850 =4 - MRH
Bt A MERMEL 21—15—25 (20) m3 #-3-P97| EE-3-P97 55
B A Y MERAMELE 21—15—25 (20) 3 B-3-P97] EE-3-P9T7 B-AR
Biiw AV MERAMESH 21—15—25 (20) m3 850 850 AW - £#i
B A MERAMBESE 21—15—25 (20) 3 f#-3-P103| F&E-3-P103 E2 A
B Ay NERANESR 21—15—25 (20) 3 #®-3-P97| #-3-P97 7R (A)
B Ar MERAMESA 21—15—25 (20) n3 1, 050 1, 050 2B (B)
BrEAY MEAMWESE 21—15—25 (20). m3 900 900 Bk (C)
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B Ay MERAMESH 21—15—25 (20) 3 850 850 iR (D)
B Ay MERMES 21—15—25 (20) m3 850 850 iR (E)
Br ALY MEAMESE 21—15—25 (20) n3 850 850 #wik (F)
B A MEANER 21—15—25 (20) n3 1, 050 1, 050 K& - KEHE|
B AL MEAMEH 21—15—25 (20) m3 #-3-P97| #-3-P97 FE (A)
Bt A MERMBELE 21—15—25 (20) n3 1, 050 1, 050 #% (B)
B Ar MERMESH 21—15—25 (20) 3 800 800 F (C)
BRig¥ AV MEAMESE 211525 (20) m3 800 800 F5 (D)
B ALY MERAMESRH 21—15—25 (20) n3 850 850 #% (E)
B Ay MERMEEH 21—15—25 (20) n3 ¥-3-P97| #E-3-P97 S (A)
B Ay NMERAMEBE 21—15—25 (20) m3 * * EE (B)
Bet A  MERANER 21—15—235 (20) m3 #-3-P99| E-3-P99| ° R
Besw AL FMERMEHA 21—15—25 (20) 3 1, 500 '1, 500 #2ik (A)
ReatAr NMERAMESR 21—15—25 (20) m3 #4-3-P103] f5-3-P103 2k (B)
Bokv A v MERMESR 21—15—25 (20) m3 ¥-3-P99]  E-3-P99 %2 (A)
B Ay MERMESH 21—15—25 (20) n3 ¥-3-P99| E-3-P99 2/ (B)
Boaw AL MERAMELH 21—15—25 (20) 03 1, 500 1, 500 f2m (C)
B Ay MEAMBESE 18—12—25 (20) 3 #-3-P97| . ¥-3-P97 4 - MATH
R+ A MERMES 18—12—25 (20) 3 #-3-P97] E-3-P97 N
Bt 2y MERAMBERE 18—12—25 (20) n3 B-3-P97| E-3-P97 #-AE
Bt Ay MERMER 18—12—25 (20) n3 -750 750 B - £4240
B ALY MERAMESH 18—12—25 (20) n3 F5-3-P103| F-3-P103 EHE
Bt Ar MEBMESE 18—12—25 (20) w3 B#-3-P97| E-3-P97 R (A)
gt A MERMELR 18—12—25 (20) n3 - 900 900 WK (B)
Big XA MEAMER " [18—12—-25 (20) m3 800 800 =B (C)
B AL MERAMESR 18—12—25 (20) 3 750 750 ik (D)
R A MERAMEE 18—12—25 (20) n3 750 750 Bk (E)
BREAV MERAMESE 18—12—25 (20) m3 750 750 WEE (F)
Bt A FMERAMESRE 18—12—25 (20) m3 900 900 Kb - KEKR
Bt AL MEANEH 18—12—25 (20) n3 ¥-3-P97] E-3-P97 F2 (A)
Big¥ Ay MERAMESE 18—12—25 (20) m3 900 900 F#&% (B)
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Batr AV rERAMERE 18—-12—25 (20) m3 750 750 #E (C)
BEv AL MERAMESR 18—-12—25 (20) m3 750 750 FE (D)
Bkt AV MEAMES 18—12—25 (20) m3 750 750 F5 (E)
B AY FERMER 18—12—25 (20) n3 ¥-3-P97| E-3-P97 HE (A)
Bt Ay MERAMELE 18—12—25 (20) 3 * * HEEE (B).
Bt A FERANESRE 18—12—25 (20) 3 F-3-P99] Et-3-P99 FE
BHE AV MEANESH 18—12—25 (20) n3 1, 500 1, 500 4k (8)
B AL MERMESE 18—12—25 (20) m3 FHE-3-P103| FE-3-P103 #dt (B)
B AL MEAMESA 18—12—25. (20) n3 ¥#-3-P99] & -3-P99 i (A)
B Ay MERMEE . [18—12—25 (20) m3 #-3-P99| EE-3-P99 K (B)
B A2 MEAMES 18—12—25 (20) n3 1, 500 1, 500 f2E (C)
B Ar MEEMESR 18—8—25 (20) m3 B-3-p97| EE-3-P97 24 - MHM
B Ar MERMES 18—8—25 (20) m3 ¥#-3-P97|  #-3-P97 $E
B Ay MERMEE 18—8—25 (20) m3 E-3-P97| E-3-P97 |- AE
B A MERMES 18—8—25 (20) m3 750 750 NS 2
Bag A MMERMNESE 18—8—25 (20) n3 #®-3-P103| #&-3-P103 - EA
B AL MEAMESR 18—8—25 (20) m3 #¥-3-P97! E-3-P97 IR (A)
B Av MERAMESR 18—8—25 (20) 3 900 900 IR (B)
B A2 MMEAMER 18—8—25 (20) . m3 800 800 #iR (C)
B Ay MERAMER 18—8—25 (20) m3 750 750 . #®K (D)
BR¥EAV MERAMER 18—8—25 (20) m3 750 750 . g (E)
B A Y MEANES 18—8—25 (20) m3 750 750 B (F)
Bt Ay MERMER 18—8—25 (20) m3 900 900 KE - KEE
Bt Ay MERAMER 18—8—25 (20) 3 B-3-P97| E-3-P97 FE (A)
Bt A MEAMEBEHE 18—8—25 (20) 3 900 900 F5 (B)
Besr A MERAMESR 18—8—235 (20) m3 750 750 #& (C)
B Ay MERMESE 18—8—25 (20) w3 750 750 #% (D)
Bt A v MEAMER 18—8—25 (20) 3 750 750 : #% (E)
Bz Ay MERAMESR 18—8—25 (20) w3 ¥#-3-P97| E-3-P97 HEE (A)
BEe A MERAMEH 18—8—25 (20) m3 * * EHE (B)
B Ay MERANMESE 18—8—25 (20) m3 B-3-P99| E-3-P99 F8
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BHEAV MERMER 18—8—25 (20) n3 1, 500 1, 500 #edb (A)
B A MERAMEH 18—8—25 (20) m3 FE-3-P103] FH-3-P103 %k (B)
B AL MERMER 18—8—25 (20) (w3 #¥-3-P99| E-3-P99 A2 (A)
Bt A MEAWERA 18—8—25 (20) m3 -3-Po9{ E-3-P99 #2 @ (B)
B AY NMERMESE 18—8—25 (20) m3 1, 500 1, 500 %2 (C)
B Ar MERAMESE 30—15—40 m3 1, 000 | 1, 000 &4 - AT
B A MERMES 30— 15—40 m3 1, 300 1, 300 3
BEEAL MEAMESR 30—15—40 m3 1, 000 1, 000 Z-AE
B Ay MERMEBA 30—15—40 m3 1, 000 1, 000 B - £243
B A MERMERA 30—15—40 m3 1, 000 1, 000 EX A
Heg+ 2 v MERMES 30—15—40 w3 1, 300 1, 300 - |RBR (A)
Bt AV MMEAMESR 30—15—40 m3 1, 300 1, 300 iR (B)
B AL FMERMESR 30—15—40 m3 1, 100 1, 100 B (C)
R A MERMER 30—15—40 m3 1, 000 1, 000 wER (D)
BiE A MERMER 30—15—40 n3 1, 000 1, 000 27 (E)
Bt Ay MERMER 30—15—40 m3 1, 000 1, 000 R (F)
B A FMERMESR 30—15—40 m3 1, 300 1, 300 K& - KEX
Bt Ay MEBMESE 30—15—40 m3 1, 000 1, 000 FH (A)
Bt Ay MEAMEHE 30—15—40 n3 1, 300 1, 300 #5 (B)
B AL MERMESR 30—15—40 m3 1, 000 1, 000 #& (C)
B AV MERMEHE 30—15—40 m3 1, 000 1, 000 #2 (D)
B AY FMERAMES 30—15—40 o3 1, 000 1, 000 FE (E)
B Ay NMEBMAS 30-—-15—40 n3 1, 000 1, 000 EE (A)
B A MERWMER 30—15—40 - In3 * * HE (B)
B Ay bMEANESE 30—15—40 m3 1, 500 1, 500 BB
B MEAMERE. | [30—15—40 m3 1, 500 1, 500 £ (A)
Bt AL MEFAMNER 30—15—40 o3 1, 500 1, 500 i (B)
BBy AV MEBMER 30—15—40 w3 1,500 1, 500 e (A)
Bt AY MEAMESE 30—15—40 m3 1, 500 1, 500 e (B)
B Ay MERAMER 30—15—40 w3 1, 500 1, 500 . (C)
Bt A v MERMESR 24—15—40 m3 900 900 #4-MATH
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B Ar VERAMES 24—15—40 m3 1, 150 1, 150 S
B AY FMEAMESR 24—15--40 m3 900 900 2- AR
B A MEAMELE 24—15—40 n3 900 900 B - E#d
BHEAV MERNESR 24—15—40 m3 900 900 EEE
B AV MERMES 24—15—40 3 1, 150 1, 150 Bk (A)
Hoe A v MERAMBE 24-—15—40 m3 1, 150 1, 150 #ik (B)
BoaE Ay MERNWESH 24—15-—40 3 1, 000 1, 000 #KR (C)
B A MEFMER 24—15—40 m3 900 900 #iR (D)
B Ay MERNER 24—15—40 m3 900 900 ik (E)
B Av NERAMER 24—15—40 m3 900 900 BIR (F)
BREv Ay MERMES 24—15—40 n3 1, 150 1, 150 KB - KER
B Ay MERMES 24—15—40 3 900 900 FE (A)
B Ay MERWERE 24— 15—40 n3 1, 150 1, 150 #% (B)
B Ay MEFMESE 24—15—40 3 900 900 #®E (C)
Bk Av MERNMER 24—15—40 3 900 900 #& (D)
Bt A v MEBMEL 24—15—40 w3 900 900 FH (E)
BEAY MERNER 24—15—40 n3 900 900 BE (4)
Bt A MERAMBEE 24~15—40 o3 * * B (B)
Bk Ay FMEAMES 24~15—40 n3 1, 100 1, 100 e
1BEAY MERIMESR 24—15—40 3 1,500 1, 500 #eds (A)
B AL MERAMESR 24—15—40 w3 1, 500 1, 500 #2de (B)
B A MERANES 24—15—40 w3 1, 500 1, 500 #EE (A)
Bov Ay FMERANESE 24—15—40 w3 1, 500 1, 500 #E# (B)
B AY MERMER 24—15—40 3 1, 500 1, 500 #em (C)
B AV FMERMES 24—8—40 m3 #-3-P97{ E-3-P97 &4 - AT
B AY FMERMER 24—8—40 n3 ¥-3-P97| E-3-P97 SR
B AL MEAMESE 24—8—40 m3 ¥B#-3-P97| #-3-P97 2 - AR
Bt A MERMERE 24—8—40 n3 800 900 ETEE L X7
Bk AL MEAMER 24—8—40 m3 H-3-P103| F-3-P103 EX ]
B Ay MERMWER 24—8—40 n3 B-3-P97| RE-3-P97 B (A)
B A MEAMER 24—8—40 3 1,100 - 1, 100 IR (B)
kk04_ 4> xls 65/77
B 4 4o FhR
LoF B BAAE ry:BRE THTE 5
REv A MERANMEHE 24—8—40 m3 1, 000 1, 000 i (C)
BB AL MERAMESH 24—8—40 3 900 900 »iK (D)
Rkt AL MEEMESE 24—8—40 m3 900 900 #K (E)
Bt Ay MERMWER 24—8—40 n3 900 900 wik (F)
BHEAL MERNER 24—8—40 m3 1, 100 1, 100 KB -KEX
Bat AL MERMER 24—8—40 3 #®-3-P97] R-3-P97 F2 (A)
B Ar MERAMES 24—8—40 3 1, 100 1,100 F& (B)
Bkt AL MEEMERE 24—8—40 m3 900 900 F5 (C)
Bt A Y MERAMER 24—8—40 m3 900 900 #% (D)
Bt Ay MERBMESR 24—8—40 w3 900 900 FE (E)
Bt A MEANMER 24—8—40 m3 B-3-P97| E-3-P97 EE (A)
B Ay MEAMERE 24—8—40 n3 * * HE (B)
Bkt A v MEAMEH 24—8—40 n3 #-3-P99| E-3-P99 /o
B A FMEAMER 24—8—40 n3 1, 500 1, 500 #2ik (A)
BigE Ay MERIMESR 24—8—40 n3 #-3-P103] FE-3-P103 #dt (B)
Bt Ay MERBMER 24—8—40 m3 E-3-P99| #-3-P99 % (A)
BEHEAY MERAMESE 24—8—40 w3 ¥-3-p9o| E-3-P99 42m (B)
Bt A MEAMELE 24— 8—40 m3 1, 500 1, 500 % (C)
B A MERMEEE 24—5—40 n3 900 900 4 - WA
B Ay MERIMELE 24—5—40 3 1, 100 1,100 [y
B AY MERMMESE 24—5—40 n3 900 900 ®-AE
Bt AL MERMESE 24—5—40 3 900 900 B - £
B A MERAMES 24—5—40 m3 900 900 EX A
BT AL MERMESE 24—~5—40 n3 1, 100 1, 100 B (A)
Bt Ay MEAMESE 24—5—40 n3 1,100 1,100 #ER (B)
Bosiw A FMEAMESE 24—5—40 3 1, 000 1, 000 27k (C)
Bt A NMERANER 24—5—40 u3 900 900 2k (D)
Hegk AL MERMER 24—5—40 m3 900 900 R (E)
B Ay MERMESHE 24—5—40 m3 900 900 2R (F)
B ALV VMEANER 24—5—40 m3 1, 100 1, 100 RE - KEH
By AL MERMESE 24—5—40 m3 900 900 FE (A)
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B4 i e S & ‘ s
B Ay MEEAWESE 24—5—40 m3 1,100 1, 100 #5 (B)
Batv AL NMERMES 24—5—40 n3 900 900 # (C)
B A FMERAMESE 24—5—40 n3 900 900 F5 (D)
B A MEANESR 24—5—40 n3 900 900 #5 (E)
B Ay MEAWES 24—5—40 m3 900 900 HE (A)
Bt Ay MEAMESE 24—5—40 w3 % * EE (B)
By AV MEANER 24—5—40 n3 1, 100 1,100 &
B+ A v MERMEHR 24—5—40 3 1, 500 1, 500 #adk. (A)
Bt A~ MERWMER 24—5—40 n3 1, 500 1, 500 : I (B)
B AL MEFMESE 24—5—40 . n3 1, 500 1, 500 2 (A)
B ALY MEAMER 24—5—40 w3 1, 500 1, 500 f2m (B)
e A MERAMER 24—5—40 m3 1, 500 1, 500 #@ (C)
B AL MEAMESE 21—12—40 m3 B-3-pP97) E-3-P97 &4 - WA
Bagw A MERMESR 21—12—40 3 B-3-p97| E-3-P97 BR
B AL MEAMBE " l21—12—40 m3 #-3-P97| B-3-P97 & AE
Bgr AL MERANER 21—12—40 m3 850 850 Al - E#40
B ALY MEAMESR 21—12—40 3 #5-3-P103| F&E-3-P103 34
Baatv A MERAMESR 21—12—40 m3 ¥-3-P97| ®&-3-P97 7K (A)
Biw Ay MMERMER 21—12—40 m3 1, 000 1, 000 BiER (B)
Bt ALY FMERMER 21—12—40 m3 900 900 iR (C)
Bt A v MERAMEL 21—12—40 3 850 850 |. #®K (D)
Besv Ay NMEAMES 21—12—-40 3 850 850 IR (E)
Bot Ay MERMESE 21—12—40 3 850 850 7R (F)
Hegz A MERMESE 21—12—40 m3 1, 000 1, 000 X& - KEXR
Bt A v MEAMELR 21—12—40 3 ¥#-3-P97| EE-3-P97 F5 (A)
B A v MEAMEL 21—12—40 3 1, 000 1, 000 #% (B)
Begk A2 FMERMER 21—12—40 : n3 800 800 FH (C)
Boe A NERAMESE 21—12—40 w3 800 800 #5 (D)
Bt 2 MEAMERE 21—12—40 w3 850 850 F8 (E)
Bt AL MERMES 21—12—40 3 B-3-P97| E-3-P97 HE (A)
B A MERMESR 21—12—40 w3 * * HE (B)
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B4 s B e mlﬁ‘?*ﬁ 5=
Bz A MEFAMER 21--12—40 3 B-3-P99| E-3-P99 Be
B Ay MERAMESE 21--12-40 3 1, 500 1, 500 2 (A)
Bk Av MERAMESE 21-—12—40 n3 #5-3-P103| #-3-P103 w2 (B)
B A NMERAMER 21—12—40 m3 H#-3-p9g| EE-3-P9g fm (A)
B AV FMERMER 21—12—40 m3 B-3-P93{ H-3-P99 %2 (B)
B Ay MEAMESR 21—12—40 m3 1, 500 1, 500 i (C)
B A MMERMEL 21—8—40 m3 W-3-P97| E-3-P97 &4 - WA
B AV FMEANESH 21—8—40 3 _¥-3-p97|  EE-3-po7 Y
Bag AL MERAMESR 21—8—40 m3 B-3-P97| #-3-P97 - AFE
Higt Ay MEAMEL 21—8—40 m3 850 850 Bl - E#do
BHEAL MERAMESE 21—8—40 n3 Fi-3-P103] F§-3-P103 B3
Bt Ay MERMELE 21—8—40 m3 ¥-3-P97{ R-3-P97 2R (A)
Bv Ay FMERAMES 21—8—40 m3 1, 000 1, 000 W (B)
B A MERAMAS 21—8—40 3 900 900 wik (C)
Bah+ A MEAMESE 21—8—40 m3 850 850 7k (D)
B AL MERMES 21-—-8—40 m3 850 850 mik (E)
Biw A bMERMESR 21—8—40 m3 ‘850 850 wiK (F) .
B A MERMESH 21—8—40 m3 1, 000 1,000 | K& - KEH
B A MERNER 21—8—40 n3 #-3-P97| E-3-P97 #5 (A)
B A MERAMESR 21—8—40 m3 1, 000 1, 000 F2 (B)
Bv A MEAMES 21-—8—40 i n3 800 800 F (C)
BT AL MERANES 21—8—40 n3 800 800 #2 (D)
Bt AL MIAMES 21—8—40 m3 850 850 #% (E)
B AL MEAMESH . [21-8—40 . n3 #-3-P97| = E-3-P97 BE (A)
B AL MIAMESR 21—8—40 m3 * * &= (B)
B A v MEAMER 21—8—40 m3 H-3-Po9| E-3-P99 lEE
B A MERAMES 21 —8—40 m3 1, 500 1, 500 2k (A)
B AL MERAMES 21 —8—40 m3 FH-3-P103] F-3-P103 it (B)
B A MERMESR 21—8—~40 n3 #-3-P99| EE-3-P99 fam (A)
Bog+ A2 MERNEZ 21—8—40 m3 #-3-P98| EE-3-P99 #E (B)
Bl MERMELSE 21—8—40 m3 1, 500 1, 500 wm\ (C)
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nu% ﬁ%’ ﬁﬁL 4HIE 7E15 {EE%
Bigv AL MERAMBEE 21—5—40 w3 850 850 Z4 - WATH
B AL MERMELHE . 21—5—40 n3 1, 000 1, 000 SR
Bt AV MERAMESR 21—5—40 w3 850 850 ® - AR
BT Ay MEAMESE 21—5—40 m3 850 . 850 EMEE 2
B A v MEAMESR 21—5—40 m3 850 850 EX A
B A MEAMER 21—5—40 w3 1, 000 1, 000 wmik (A)
REE AL MEAMEBSR 21--5-—-40 3 1, 000 1, 000 7 (B)
B Ay MEAMESE 21—5-40 w3 900 900 7R (C)
Bagd 2 NMERMMESE 21—5—40 3 850 850 ik (D)
Bav A v MEAMEH 21—5—40 3 850 850 R (E)
B AV NMERAMESHE 21—5—40 m3 850 850 A (F)
B A MEFAMESE 21—5—40 m3 1, 000 1, 000 KB - KER
Bt A MERMNELE 21-—5—40 3 850 850 #5 (A)
Bk Ay MEBAMESR 21~-5--40 3 1, 000 1, 000 F& (B)
B2 FMERMESR 21 —5-—40 3 800 800 F#& (C)
Bt Ay MERMESR 21—5—40 n3 800 800 F& (D)
Bt FMERMEH 21—5--40 n3 850 850 FE (E)
Rge A MEFRMER 21—5-—40 m3 800 . 800 GEE (A)
BovAr MERAMESR 21—5—40 3 * * &EE (B)
B AL MERANESR 21—5—40 w3 950 950 e
Bt AL MERMES 21—5-—40 m3 1, 500 1, 500 f2dk (A)
Bt AL FMEAMBHE 21—5—40 w3 1, 500 1, 500 it (B)
Btk A MERINELE 21—5~40 m3 1, 500 1, 500 8 (A)
BEEA v MERAWESA 21--5—40 m3 1, 500 1, 500 =8 (B)
Bae AL MERMESE 21 ~5—40 m3 1, 500 1, 500 %/ (C)
Hokt A MERMEZR 18—12—40 w3 #-3-P97]  E-3-P97 £ - WAH
B Ay MERMESE 18—12—40 n3 B-3-P97| #-3-P97 $hE
R Ar NMEAMESR 18—12—40 n3 #-3-P97|  E-3-P97 - AR
Bt A v MERAMESR 18—12—40 w3 750 750 Al - 2440
Bt Ay MERAMER 18--12—40 m3 F5-3-P103| #5-3-P103 E3 A
Bt AL VMERMESE 18—12—40 3 #-3-po7|  E-3-P97 B (A)
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Beh AL MERMER 18—12—40 w3 900 900 2R (B)
Bt AL FMERAMER 18—~12—40 m3 800 800 2R (C)
B A MERAMESE 18—12—40 n3 750 750 7K (D)
Bt ALY MERMES 18—12--40 3 750 750 #IR (E)
B Ar MERAMESR 18—12—40 m3 750 750 miR (F)
BgEAv MERMER 18—12—40 m3 900 900 B - RNER
Bk A v MERMER 18—12—40 m3 2-3-P97| REB-3-P97 FE (A)
Bitt Ay MERMESE 18—12—40 m3 900 900 2 (B)
BotE Ay MERNESR 18—12—40 m3 750 750 5 (C)
BaEAr MEAMESR 18—12—40 3 750 750 F2 (D)
Rt MERAMER 18—12—40 3 750 750 #% (E)
Bt Ay MERAWMESA 18—12—40 m3 B-3-P97| E-3-P9T7| & (A)
B A MERMELE 18—12—40 o3 - * * HE (B)
Bt A MERAMER 18—12—40 m3 E-3-P99| E-3-P99 IEET
Saa A MERMESR 18—12—40 m3 1, 500 1, 500 #Ae (A)
Bast A MERMELE 18—12—40 3 FH-3-P103| f5-3-P103 ik (B)
BEE Ay MEAWMESR 18—12—40 3 H-3-P99| E-3-Pog 42 (A)
By Ao MERMELE 18—12—40 n3 #-3-P99| #-3-P99 2 (B)
Bifit A MEEMEH 18—12—40 n3 1, 500 1, 500 2| (C)
Bk A v MERMELRE 18—~8-—40 w3 #-3-P97| #&-3-P97 4 - AT
B A2 MERMES 18—8—40 m3 B-3-p97| B-3-P97 Py
BRE¥E A MERANMESE 18—8—40 n3 #-3-P97| EE-3-P97 B - AE
B AV MERAMER 18—8—40 03 750 750 EEE e
B ALY MERAMESR 18—8—40 w3 E-3-P103| #E-3-P103 EX A
BHE A MERNES 18—8—40 n3 B-3-P97] E-3-P97 B (A)
B A MERAMESE 18—8—40 n3 900 900 2R (B)
BEEAY MEAMER 18—8—40 m3 800 800 i (C)
B A v MERMESR 18—8—40 m3 750 750 2R (D)
Bev Ay MEAMEE 18—8—40 w3 750 750 iR (E)
BHE AL MERMESA 18—8—40 n3 750 750 #ER (F)
BEeAv MERMESR 18—8—40 m3 900 900 K& - KEK
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FH

S poked BfAr IATH THTH wE
Bfit A v MERMELE 18—8—40 3 E-3-Po7| EE-3-P97 FZ (A)
Bt A FMERMNESE 18—8—40 3 900 900 F#& (B)
B AY MEBNESE 18—8—40 m3 750 750 #5 (C)
Bt Ay REAMES 18—8—40 w3 750 750 #% (D)
ek Ay MERNES 18—8—40 n3 750 750 #5 (E)
BREtEAy FMERAMESH 18—8—40 3 B-3-P97] RE-3-P97 GEE (A)
Baav A MERANESE 18—8—40 3 * * HE (B)
B Ay MERANESE 18—8—40 3 F-3-Po9| EE-3-P99 e
Bt A MERAWNESE 18—8-—40 3 1, 500 1, 500 #de (A)
B A MERMESE 18—8—40 w3 #H-3-P103] FH-3-P103 % (B)
BT AL MERMES 18—8—40 3 #-3-p99| E-3-P99 i (A)
Rigt 2 v MERAMESR 18—8—40 m3 #-3-P99| ®E-3-P99 #E (B)
B AL MERANMESHR 18—8—40 m3 1, 500 1, 500 #E (C)
B A2 MEAMESR 18—5—40 n3 750 750 Z4 - WA
Beav A v NMERWMER 18—5—40 3 . 900 900 Y4
R A MEIFMERHE 18—5—40 n3 750 750 B AR
B A L MEAMEL 18—5—40 w3 750 750 Al - i
BE A MEAMES 18—5—40 m3 750 750 EZ A
B Ar FMERAMESR 18—5—40 n3 900 900 B (A)
B AL MERNESA 18—5—40 n3 900 900 2k (B)
B AL MERAMELE 18—5—40 m3 800 800 B (C)
B AV MERNESE 18—5—40 m3 750 750 iR (D)
Bt Ay MERMELSE 18—5—40 n3 750 750 niR (E)
Bt Ay NMEBNES 18—5—40 n3 750 750 BE (F)
BHEAV MEANESE 18—5—40 3 900 900 K - KEX
B Ay MERNES 18—5—40 n3 750 750 G5 (A)
B Ay MERMEHR 18—5—40 n3 900 900 F#E (B)
B XA MEFENERE 18—5—40 3 750 750 #5 (C)
Bk Ay MERAMELE 18—5—40 m3 750 750 #3 (D)
B AV MERAMESE 18—5—40 n3 750 750 #% (E)
R A MEAWMESR 18—5—40 m3 750 750 HE (A)
' kk04_ & xls 711/77
s i AL - — g7y 7HIE -+ %

Bt AL MEANER 18—5—40 n3 * * BE (B)
B AV MEAMESR 18—5—40 m3 850 850 R
Big¥ 2 MERMELE 18—5—40 m3 1, 500 1, 500 e (A)
BREAV MERAMES 18—5—40 m3 1, 500 1, 500 A2k (B)
By A MERAMELR 18—5—40 w3 1, 500 1, 500 £E (8)
B AL MEBNER 18—5—40 n3 1, 500 1, 500 wm (B)
R AL MERAMESRE 18—5—40 n3 1, 500 1, 500 | (C)
B Ay MERAMESR 4.5—2.5—40 n3 B-3-P97| B-3-P97 Z4 - WATH
B Ay MERMEE 4,5—2,5—40 m3 * * i)
BREAV MEBIWESE 4.5—2.5—40 n3 * * N
Biw AL MERMESRE 4.5—2.5—40 n3 * * B - =4
BBk A MERIRELR 4.5—2.5—40 m3 * * A
Beht AL NMERMES 4,5—2.5—40 m3 * * MR (A)
BigE Ay MEEMELH 4.5—2.5—40 m3 ® * IR (B)
B ALy MERMELR 4,5—2.5—40 n3 * * RER (C)
Brav XY MERAMER 4.5—2.5—40 w3 * * B (D)
Biiw AL MEAMES 4.5—2.5—40 n3 * * B (E)
B A MERMEE 4,5—2.5—40 n3 * * wiR (F)
B AV MERMEL 4.5—2,5-—40 m3 * * KB -KEX
B AL MEEMESH 4.5—2.5—40 m3 * * FE (A)
Bt AL MERMEE 4.5—2.5—40 m3 * * F% (B)
Bigt Ay MERMER 4.5—2.5—40 n3 * * #5 (C)
BEE AL MERAMEH 4.5—2.5—40 m3 * * #% (D)
Bk A MERAMELE 4.5—2.5—40 3 *| * @5 (E)
B2y MEAMEL 4,5—2,5—40 m3 * * HE (A)
Bkt A MERMEEE 4.5—2.5—40 3 * * HE (B)
Beiw A v MMERMES 4.5—2.5—40 n3 * * B
Bt A MEANESE 4.5—2.5—40 m3 * * w2 (A)
B A MEAMELR 4.5—2.5—40 m3 * * =i (B)
B A v MEAMER 4,5—2.5—40 m3 #-3-P99| E-3-P99 2 (A)
Boht A FMEAMES 4.5—2.5—40 m3 B-3-P99] #E-3-P99 | (B)
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B A MERNEH 4.5—2.5—40 3 * * i (C)
B AV MERANEHE = A v hE&170kg/m3 n3 700 700 &4 - WA
Bt Ay MERMESR + A 2 F&170kg/m3 m3 400 400 B
Bt Ay MERAMEE + A F &170kg/n3 w3 750 750 RN
Bz AL MERAMER A2 P E170kg/un3 3 750 750 A - 2=kt
Bt A v MEAMER = A b+ E170kg/m3 w3 700 700 35
Bt AY MERMEE = A 2+ E170kg/m3 m3 850 850 IR (A)
Bz AL MERANESR + A > F &170kg/n3 m3 850 850 Bk (B)
Bt A MEAMESR + A b E&170kg/m3 n3 700 700 2R (C)
B A Y MERNES 2 2 hE&170kg/m3 m3 420 420 wni (D)
Beat AV MERMAHE AV hE170kg/m3 n3 420 420 7K (E)
Bt A v MERAMELR = A v FE170kg/n3 3 750 750 #ik (F)
B AL MERMEH + 2 FE&170kg/m3 n3 850 850 KB - KEKR
Boaav Ay MERMER + A2 b &170kg/m3 m3 700 700 FE (A)
Bt Ay MERWMESE + 2 M E170kg/m3 3 “1, 000 1, 000 FE (B)
B A v MEAMEER AV FE&170kg/n3 m3 1, 000 1, 000 #% (C)
B AV MEAMESE A2 b &170kg/m3 3 700 700 #% (D)
B AL NMERAMELR A v E170kg/m3 3 700 700 F% (E)
B AY MERAMER A2 b E170kg/m3 m3 700 700 EE (A)
Bz AL MERNEHR £ AV b &170ke/m3 w3 * * EE (B)
B AV MERAMNAE + A FE170kg/m3 m3 300 300 [
Bt A2 NMERMEL + X2 F&170kg/m3 n3 1, 500 1, 500 #edt (A)
B AL MERNMER + A b &170kg/m3 3 1, 500 1, 500 %Ik (B)
B MERNEH + A > bk &170kg/m3 w3 1, 500 1, 500 % (A)
BT AV FMERMNEHR + A L #&170kg/m3 m3 1, 500 1, 500 #m (B)
Bt AL MERMES + A 2 P E170kg/m3 m3 1, 500 1, 500 #2m (C)
B A MEAMESE 24—12—40 m3 #-3-P97| E-3-P97 Er R
BREAL MERMWESR 24—12—40 n3 ¥-3-P97| EE-3-P97 [y
B AL MEFMESR 24—12—40 m3 E-3-P97| E-3-P97 & AR
B A MEAMESR 24—12--40 m3 900 900 B - 4
BREAL MEANWER 24—12—40 m3 f§-3-P103] #F¥-3-P103 EX A
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BT A MERMELE 24—12—40 3 ¥#-3-p97| . B-3-p97 iR (A)
Bz Av MERMESR 24—12—40 m3 1, 100 1, 100 ®iR (B)
Bl Ay MERWESR 24—12—40 3 1, 000 1, 000 #IR (C)
B ALY MERANWESR 24—12—40 m3 900 900 2K (D)
B A MERMES 24—12—40 m3 900 900 7R (E)
B AL MERNMESR 24—12—40 m3 900 900 2K (F)
B AL MERMER 24—12—40 m3 1, 100 1, 100 K& - KEE
B AV FMERAMESR 24—12—40 n3 #-3-p97| EE-3-P97 F2 (A)
B A MERAMER 24—12—40 m3 1,100 1, 100 #Z (B)
Begy 2L MERMWEHE 24—12—40 m3 900 900 #& (C)
Bt A MEAMERE 24— 12—40 w3 900 900 #2 (D)
B AL MERAMER 24—12—40 m3 300 900 ## (E)
Hik¥ A v MERAMNELR 24—12—40 m3 ¥#-3-P97| E2-3-P97 EE (A)
B A MERMESE 24—12—40 n3 * * EE (B)
Bt AL MERWER 24—12—40 3 H-3-P99| EE-3-P99 FE
B2y MEFMER 24—12—40 m3 1, 500 1, 500 ik (A)
B ALY MEBMES 24—12—40 m3 f8-3-P103] fE-3-P103 i (B)
B A MERMEZE 24—12—40 m3 J2-3-P99|  EE-3-P99 AR (A)
Bk A MERAMESE 24—12—40 n3 ¥-3-P99| ¥E-3-P99 i (B)
Bt Ay MERMESR 24—12—40 n3 1, 500 1, 500 f2m| (C)
B A MERMES 21—15—40 m3 850 850 £ - MATH
Bl AL MERMES 21—15—40 m3 1, 050 1, 050 55
Bz A v MERMES 21—15—40 n3 850 850 & - AR
Bt A v MERAMEH 21—15—40 n3 850 850 Bl - E#ik
Bz AL MERAMESH 21—15—40 3 850 850 EF A
Bt A MERMES 21—15—40 m3 1, 050 1, 050 IR (A)
Hoat A v MEAMERE 21—15—40 m3 1, 050 1, 050 nER (B)
Rt AL MERMELE 21—15—40 m3 900 900 BEE (C)
Hagv AL MERMEL 21—15—40 m3 850 850 27k (D)
Begv A MERMER 21—15—40 n3 850 850 7K (E)
Boat AL MERNWER 21—15—40 w3 850 850 IR (F)
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B AV MERAMESR 21—15—40 3 1, 050 1, 050 KB - KREXE
By A v MERIMESE 21—15—40 3 850 850 F2E (A)
Basv A v NMERMES 21—15—40 3 1, 050 1, 050 FE (B)
B AL MERAMES 21—15—40 w3 800 800 #F5 (C)
Bt A MERMERE 21—15—40 w3 800 800 #2 (D)
B AL MEAMNESE 21—15—40 n3 850 850 #E (E)
BHE A MEANER 21—15—40 n3 800 800 S (A)
B AV MEAWMESR 2] —15—40 n3 * * & (B)
v Ay MERMESR 21—15—40 m3 950 950 FE
B A MERMESE 21—15—40 3 1,500 1, 500 fade (A)
Bt AV FMERAMESR 21—15—40 n3 1, 500 1, 500 %2k (B)
Boat Ay NMERMESE 21—15—40 3 1, 500 1, 500 %R (A)
Bk A MERAMEHR 21—15—40 3 1, 500 1, 500 #em (B)
R AL FMERMESR 21—15—40 3 1, 500 1, 500 %@ (C)
BEME AL MEAMESR 18—15—40 m3 750 750 24 - AT
Hah¥ AL MERNES 18—15—40 n3 950 950 YA
Bt ALY MEAMER 18—15—40 m3 750 750 E-AE
Bk AL MEAMERE 18—15—40 n3 750 750 ad - 2x
Bt A v FMERAMBE 18—15—40 n3 750 750 EZ A
REgt A v MERMERE 18—15—40 3 950 950 Bk (A)
Bt Ay MERMEE 18—15—40 n3 950 950 R (B)
Bt Ay MERMER 18—15—40 n3 800 800 ®ig (C)
Boab A Y MERMESE 18—15—40 n3 750 750 Bk (D)
B A v MERAMELE 18— 15—40 3 750 750 7k (E)
B A Y MERAMESR 18—15—40 3 750 750 iR (F)
BigEw A MERMES 18—15—40 n3 950 950 K& -KEX
Bt X MERMES 18—15—40 n3 750 750 FE (A)
B AL MMERMES 18—15—40 n3 950 950 F5 (B)
Bz AV MERMAE 18—15—40 n3 750 750 #5 (C)
BHEAY NMERAMES 18—15—40 n3 750 750 & (D)
Bt A v NMERMESE 18—15—40 n3 750 750 #5 (E)
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Bt A Y MERNEE 18—15—40 n3 750 750 HE (A)
Hig¥ A v MEBMER 18—15—40 n3 * * HEE (B)
BRy AL MEAMER 18—15—40 m3 850 850 5T
BE¥w A NMERMESE 18—15—40 3 1, 500 1, 500 23k (A)
B AV NMERAMESE 18—15—40 n3 1, 500 1, 500 #2dk (B)
Bz AV MEANESR 18—15—40 m3 1, 500 1, 500 2 (A)
Bt Ay MERMER 18—15—40 n3 1, 500 1, 500 #om (B)
B A MEBEMNER 18—15—40 n3 1, 500 1, 500 2 (C)
BIFEAS MEAMER n3 H-3-P97|  BE-3-P9T 4 - AT
BIFEEAY FMEAMER 3 ¥-3-P97| E-3-P97 Y
BT A L MERANESE m3 ¥-3-P97| E-3-P97 ®’-AE
mFEA Y MERMER m3 0 0 Al - Exdt
mFE AL MMERMES n3 0 0 EX A
BIFEAY MERMES n3 #@-3-p97| #&-3-P97 2R (A)
B A MERMESR n3 0 0 R (B)
BFEA Y MERMES n3 0 0 PABE (C)
BiEE A e A n3 0 0 R (D)
BIFE AV MEAMER m3 0 0 iR (E)
BFEAV MERANEE m3 0 0 i (F)
EEEAY MERNESE n3 0 0 KE-KEER
BT A MERMESE n3 #-3-P97[ ®-3-POT FE (A)
BIFEAY MERMESE m3 0 0 #Z (B)
BFEEAV MERMESR m3 0 0 FE (C)
EBFEEAY MERMER n3 0 0 F5 (D)
B EAY MERMER n3 0 0 #% (E)
BFEEAL MEAMESE w3 B-3-P97| ®-3-P97 HE (A)
EFEAY MERMELE m3 * * EE (B)
EBIFEA L MERMES n3 E-3-P99| E-3-P99 FE
EIFEEAY MERMESR n3 0 0 2k (A)
BFEAY MERAMESR n3 F&-3-P103] FE-3-P103 fedt (B)
BFEEACMEAMBAE n3 #-3-P99] E-3-P99 i (A)
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A B BAAT T9TH “ATH HE
B AV MERAMELR 3 E-3-P99| E-3-P99 2 (B)
BFEEAY MEAMER w3 0 0 %2 (C)
JNEIE Y m3 ¥#-3-P97| E-3-P97 4 - WA
NEIEIY m3 B-3-P97| EE-3-P9T P
/NBUEY m3 B-3-PO7{ RE-3-P97 AR
NBIE m3 1, 000 1, 000 ENMEEE 2
BRI n3 FE-3-P103] #H-3-P103 E2A:
/hEIERE n3 #-3-P97| E-3-P97 7k ()
NEIEE n3- 1, 000 1, 000 K (B)
NBIEIRY n3 1, 000 1, 600 7R (C)
NEIE m3 * * i (D)
NEIEE n3 * ik (E)
NS n3 1, 000 1, 000 7 (F)
/MEIEIE m3 1, 000 1, 000 K& - KEX
INEEIY n3 #-3-Po7| E-3-PO7 F& (A)
NEIEIY m3 1, 000 1, 000 F& (B)
NEIEE n3 1, 000 1, 000 F& (C)
N m3 1, 500 1, 500 #% (D)
ANEUE m3 1, 200 1, 200 #5 (E)
RIS m3 ¥-3-p97| B-3-P97 EE (A)
BRI 3 * * HE (B)
INBE m3 E-3-Po9| E-3-P99 i
NI m3 2, 000 2, 000 e (A)
B 3 #%-3-P103] #E-3-P103 ik (B)
/NEIZIH w3 #-3-P99| E:-3-P99 @ (A)
BRI m3 #-3-Po9| #&-3-P99 o (B)
/BRI m3 2, 000 2, 000 wE (C)
WK - BT 3
AR 3 * *
BEHBER ] 2,000 2, 000
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